Computer Structure

Assignment 3

Deadline: 13/12/07 14:00 

1. Obtain the minimal form of the functions:
a. f(a,b,c,d) = SIGMA (1,3,4,5,6,7,10,12,13) + SIGMA d (2,9,15)
('SIGMA d' stands for the don't care combinations)
b. f(a,b,c,d) = PI (1,2,4,5,7,8,10,11,13,14)
c. f(a,b,c,d) = (a+b+c')(b'+d')(a'+c)(b+c)
2. Design a system which performs a full addition of two decimal digits, which are given in BCD code. The answer should be in BCD code.

Use Full Adder units and minimum number of gates.

3. A logic circuit accepts as inputs two 2-bit numbers A=A1A0 and B=B1B0 and provides a 4-bit output P=P3P2P1P0​ which is the numerical product of A and B.
A​​​0​‑, B0 and P0 designate the LSB of the respective number.
Design the circuit. Use minimal number of gates. 
